(IN WORDS) UGX Ten Million Shillings Only Ten Million Shillings Only	Date: 17-Nov-202
PAY M/S JUGANDA BADMINTON ASSOCIATION ACCOUNT SPONSORSHIP (IN WORDS) UGX Ten Million Shillings Only	AMOUNT 10,000,00
ACCOUNT SPONSORSHIP (IN WORDS) UGX Ten Million Shillings Only	AMOUNT 10,000,00
ACCOUNT SPONSORSHIP (IN WORDS) UGX Ten Million Shillings Only	<u>, , , , , , , , , , , , , , , , , , , </u>
(IN WORDS) UGX Ten Million Shillings Only	<u>, , , , , , , , , , , , , , , , , , , </u>
(IN WORDS) UGX Ten Million Shillings Only	<u>, , , , , , , , , , , , , , , , , , , </u>
	<u>, , , , , , , , , , , , , , , , , , , </u>
	<u>, , , , , , , , , , , , , , , , , , , </u>
	y
	Tournament 2024
BEING Payment made for Sponsorship for Uganda para ba	Tournament 2024
Payment made for Sponsorship for Uganda para ba	
	adminton International Tournament 2021
Alex (A)	
PREPARED BY CHECKED BY	SANCTIONED
talular.	ВҮ
GRACE MURSHID TINA	
Che No.: 533 Chg Date: 8.11. 2.02	Chq Prepared By :
Chq No : 533 Chq Date : 8 11 202	Signature :



000533 218001102 27-18-47 Authorised Signatory Above UGX*10,000,000/-19-Nov-2021 Date THE RUPARELIA FOUNDATION or order Ugx.10,000,000/-KIRA ROAD BRANCH **Uganda Badminton Association** Bank Code Not Negotiable A/C Payee only AC 218 131161 1 5111 0 Guaranty Trust Bank (Uganda) Ltd Plot 56 Kira Road PO Box 7323 Kampala, Uganda NOT EXCEEDING . Cheque Number **Ten Million Only Uganda Shillings Pay.

UGANDA BADMINTON ASSOCIATION

P.O. Box 20077 Lugogo Kampala (U) Tel: 256-41-254477

With thanks

Fax: 256-41-258350 Email: Ncsuga@infocom.co.ug	
No. 702 RECEIPT DATE: 23rd 11 2021	
Received with thanks from: IHE ROPADEMA	
FOUNDATION OF	
The sum of Shillings TEN SOILLION	
SHILLINGS ONLY	
Being payment for UCIANOT PARA INTERNATION	76
BASMINTON TOUBHAMENT	
Cash / Cheque No. 008533 Balance MIL	
Signature: magulines	

For: Uganda Badminton Association

09*** 27 1847

"000 5 3 3 II"

UGANDA BADMINTON ASSOCIATION

Affiliated to the Badminton World Federation Affiliated to Badminton Confederation of Africa Affiliated to Uganda Olympic committee Affiliated to National Council of Sports



P.O. Box 20077 Lugogo Kampala Tel: 256 -414-254477 Fax: 256-414 258350

Email: sportscouncil@utlonline.co.ug Website: www.badmintonuganda.org

Your Ref:	Our Ref:

BILL TO:

Ruparelia Foundation, Crane Chambers, Kampala Road, Kampala.

INVOICE

DESCRIPTION	UNIT PRICE (UGX)	TOTAL (UGX)
Sponsorship for Uganda Para badmir International Tournament 2021 VAT (18%)	ton	1,800,000/=
	Balance Due	UGX 11,800,000/=

Please transfer the money to the following account:

Bank Account Owner:

Uganda Badminton Association

Bank Account Number:

95010200000098

BIC/SWIFT:

BARBUGKA

Name of the Bank:

Bank of Baroda

Address of the Bank:

P.o Box 7197, plot 18, Kampala Road.

SIMON MUGABI Chief Executive Officer

* 17 NOV 2021 *

HOD ACCOUNTS GM/ACIO

PAID Date:

Executive Board Members

Company Name:

Chairperson Ms. Nakamya Annet (Cell 0701279668)

Vice Chairperson Haji. Serugo Ali (Cell 0772431975), General Secretary Mr. Ivan Karimunda (Cell 0770-762449), Asst. General Secretary Ms. Nalubega Gorreti (Cell 0782780284), Treasurer Haji Jamir Buwembo (Cell0701422665), Chief Executive Officer Mr. Simon Mugabi (0772-411724) Patron, Mr. Mohamedraza G. Manji (0772-760031)



















Dr.VENKATA KRISHNAN Chairman - Marketing Committee

- +256 751 190 290 +256 414 254 477
- nvkrishnan1983@yahoo.com sportscouncil@utlonline.co.ug
- P.O.Box 20077, Lugogo Bypass Kampala, Uganda
- www.badmintonuganda.org



P.O. Box 20073 Lugogo Kampala Tel 256 -414-254477 Fax 256-414 258350

Email sportscouncil@utionline.co.ug Website www.badmintonuganda.org

100	2 4 40	RA	8-
4 1	1.37		22-10-6

03rd-November-2021

RE; REQUEST TO SPONSOR UGANDA PARA BADMINTON INTERNATIONAL NO TOURNAMENT FROM THURSDAY 11TH - SUNDAY 21ST NOVEMBER 300. The Uganda Para Badminton international november 300.

The Uganda Badminton Association is one of the leading National Sports Federations the country as it is judged by its successes both nationally and internationally. The Association asserts this position through sound strategy, targeting all corners of the country with emphasis on youth, proper planning, accountability and efficient management team.

Locally Badminton is very popular among the youth as it is played in all regions of Uganda by Primary, Secondary and University students.

The Uganda Badminton Association derives its support mainly from the private sector, as support from the Government has been limited.

The Uganda Badminton Association hosts the Uganda Para Badminton International annually which is sanctioned by the Badminton World Federation (BWF) after it has been approved by the Continental body the Badminton Confederation Africa.

This tournament carries World Ranking Points and it is being used as a Commonwealth Qualifier for the BIRMINGHAM 2022 PARA COMMONWEALTH GAMES and also for the Para Badminton World Championships that will be held next year as well. The invitations were circulated to all Member Countries globally by Badminton World Federation.

Twenty (20) countries have confirmed to participate in this tournament and these are: Algeria, Benin, Brazil, Canada, Democratic Republic of Congo, Egypt, Ethiopia, France, Germany, Ghana, India, Italy, Ivory Coast, Mozambique, Niger, Russia, Scotland, Zambia, Zimbabwe and the host Uganda. Uganda will be represented by a team of Sixty Seven players (67) plus four coaches.

The tournament will be screened live covering all the courts that gives it opportunity to be viewed all over the world.

It will be held in LUGOGO IN DOOR STADIUM and we have already written to the General Secretary National Council of Sports to reserve those dates for us.

Executive Board Members Chairperson Ms. Nakamya Annet (Cell 0701279668)

Vice Chairperson Haji, Serugo All (Cell 0772431975), General Secretary Mr. Ivan Karimunda (Cell 0770-762449), Asst. General Secretary Ms. Nalubega Gorreti (Cell 0782780284), Treasurer Haji Jamir Buwembo (Cell0701422665) Chief Executive Officer Mr. Simon Mugabi (0772-411724) Patron, Mr. Mohamedraza G. Manji (0772-760031)











Company Name:

Amount:

Chq No.: Sign:

As such the Uganda Badminton Association would like to associate	
accordingly is seeking for your CORPORATE SPONSORSHIP.	and
Therefore the purpose of this letter is kindly requesting you to acceenable us hold this tournament successfully.	ept our proposal to
The Uganda Badminton Association will ensure that a lot of PUB and it will be as follows;	LICITY is carried out
We shall arrange a press conference when the package is being	hunded over.
Media houses will be called at the function.	
Both Print and digital media will carry out daily stories regardin the entire period mentioning your company	g the tournament for
You will have the right to advertise at the venue where you will have placed around the venue of the tournament.	nave Tenr
T-Shirts and Certificates will have your logo branded on them	
You will be given an opportunity to award the winners with med	als and trophies
Pull up drops stationed inside the venue,	
A-boards placed around the courts of play.	
Your banners placed inside and outside at the venue.	
We shall be very grateful if	
Attached is the budget and invitation.	
Yours faithfully.	
Simon Mygabi Chief Executive Officer	
	3.
Proposed for Parmor	nt
♦ 17 NOV 2021	PAID Date:
Ma	FALL Date:
HOD ACCOUNTS GM/AGIN	Company Name:
The second secon	Amount:

Chq Wo.: Sign:

Uganda Para International Budget 2021

Expenses (including description)	Cost per Unit	Unit Type (hours, km, day, person, set)	No. Unit(s)	Total Cost
Equipment and material				
1.1 Public Adress system	300,000	days	8	2,400,000
1.2 Accreditation cards	5,000		200	1,000,000
1.3 Shuttle Cocks	111,000		300	33,300,000
Sub Total 1				36,700,000
2. Human resources	A STATE OF THE STA			
2.1 Refree	468,000	days	10	4,680,000
2.2 Deputy Refree	360,000		10	3,600,000
2.3 Classfiers (4)	1,440,000	The state of the s	8	11,520,000
2.4 Match Controller	180,000		8	1,440,000
2.5 Umpires (10)	500,000		8	4,000,000
2.6 Line Judges (20)	600,000	days	8	4,800,000
2.7 Security (20 police)	400,000	days	8	3,200,000
2.8 Cleaning firm	4,000,000	Firm	1	4,000,000
2.9.1 Allowances for drivers (15)	750,000	days	10	7,500,000
2.9.2 Allowances for Doctor	250,000	days	8	2,000,000
2.9.3 Allowances for physic therapists (2)	400,000	days	8	3,200,000
Sub Total 2				49,940,000
3. Venue			La sangle	
3.1 Hall Bookings	500,000	The second secon	. 8	4,000,000
3.2 Hall Preparations (Lights, Black outs etc)	10,000,000		1	10,000,000
3.3 Court Preparation (items, including tapes etc)	500,000		1	500,000 800,000
3.4 Court Preparation (labour) 4	400,000	The state of the s	2 8	12,000,000
3.5 Livestreaming (internet, cables etc)	1,500,000	days		12,000,000
Sub Total 3				27,300,000
4. Health Costs		State of the state of		
4.1 Covid Testing	185,000		200	37,000,000
4.2 Ministry of Health (Tent&chairs)	150,000		8	1,200,000
4.3 Ambulance	350,000		8	2,800,000
4.4 Purchase of health Items e.g (icepacs,masks) 4.5 Tempreature guns	2,000,000 150,000		4	1,000,000
Sub Total 4	Sangara pilipaga sa			42,60D,000
5. Transport				42,000,000
5.1 Mini buses (10) @ 300,000/=	3,000,000	days	8	24,000,000
5.2 Cars (3) @ 150,000/=	450,000		10	4,500,000
5.3 Vans (5) @ 200,000/=	1,000,000		8	8,000,000
Sub Total 6		Holosyke a cheklus	ENVERORMENT OF	36,500,000
6. Other Costs	eyester militari ett pyrinning.	amazoni ir. ir. ir. i 2 (iii iii iii iii		
6.1 Trophies	80,000	Pieces	36	2,880,000
6.2 Refreshments (Water, Sodas) for 7days	25,000	Cartons	200	5,000,000
6.3 Publicity (all media houses)	1,000,000	days	8	8,000,000
6.4 Full board Accomodation (60) @65,000/= for team uganda, technical&support staff	3,900,000	days	8	31,200,000
6.5 Photography	100,000	days	8	800,000
6.6 Accomodation (BWF) 10	3,600,000		10	36,000,000
6.6 Opening & Closing Ceremony	5,000,000		1	5,000,000
Sub Total 6				88,880,000
7. Administrative or structural costs		THE STATE OF THE S		
7.1 Score sheets & Stationary	25,000	days	8	200,000
7.2 Servicing of computers & refilling cartiladges	50,000	The state of the s	. 8	400,000
7.3 LOC	500,000	days	25	12,500,000
7.4 Truck suits	50,000	pieces	67	3,350,000
7.5 Team Uganda t-shirts	30,000	pieces	67	2,010,000
Sub Total 7				18,460,000
OVERALL TOTAL			digital bearing	300,380,000

	Promocon	44.	
PAID Page 1 Date:	17	NOA 363.	
Сомралу Name:	A A	CCOUNTS	GM/AGiv.
Amount:	HOD		
Chą No.: Sien:			

